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1. Vocabulary - Unit 1

2. What is accident?

A situation in which someone is injured or something is damaged without anyone

intending them to be.

A True B False

3. What is this ?

A This is a wheelchair. B This is a cellphone.

C This is a helmet.



4. What is this ?

A This is a wheelchair. B This is a cellphone.

C This is a helmet.

5. What is this ?

A This is a wheelchair. B This is a helmet.

C This is a cellphone.

6. What is this ?

A This is an ostrich. B This is a tortoise.

C This is a squirrel.

7. What is this ?

A This is an ostrich. B This is a squirrel.

C This is a tortoise.



8. What is this ?

A This is an ostrich. B This is a tortoise.

C This is a squirrel.

9. What is this ?

A This is a dynamite. B This is a wheelchair.

C This is a seatbelt.

10. Choose the correct meaning for the given word:

bald means.....

A to throw with great force B having no hair on the head

C to contest or fight against

11. Choose the correct meaning for the given word:

stuck in means.....

A caught and unable to move out B to contest or fight against

C to throw with great force

12. Choose the correct meaning for the given word:

to recover means.....

A to fight against B to get better

C to throw with great force



13. Grammar - Unit 1

14. So And Because

What’s the difference between “so” and “because”?

USE BECAUSE TO EXPRESS A REASON:

He is the best student because he studies a lot.

(result) <———- (reason)

USE SO TO EXPRESS A RESULT:

He studies a lot, so he is the best student.

(reason) <———- (result)

15. Choose the correct option:

My cat was hungry .............. it ate a fish.

A because B so

16. Choose the correct option:

I was late for work this morning .......... I overslept.

A so B because



17. Choose the correct option:

I'm tired ............... I didn't sleep well last night.

A so B because

18. Choose the correct option:

She didn't study ............ she failed the English exam.

A so B because

19. We are going to see how we can agree with positive and negative statements.

SO is used to show agreement with positive statements.

SO + Auxiliary/Be + Subject (pronoun)

Neither is used to show agreement with negative statements.

Neither + Auxiliary/Be + Subject (pronoun)

20. Choose the correct option.

Miranda is here. __________ is Mike.

A neither B so

21. Choose the correct option.

Mary likes ice cream. __________ does Jim.

A so B neither



22. Choose the correct option.

Hilmar reads a lot. __________ Judy.

A Neither do B Neither does

C So does D So do

23. Choose the correct option.

Sash owns a laptop. __________ Rob.

A So does B Neither does

C Neither do D So do



24. Reflexive Pronouns

1) usually used when the object of a sentence is the same as the subject.

The girl cut herself while cooking.

2)used to emphasize that someone does something without any help from anyone else.

You must finish the work by yourself.

We use a reflexive pronoun as a direct object

when the object is the same as the subject of the verb.

Subject pronouns ... Reflexive pronouns

I ..... myself

you..... yourself

he.... himself

she..... herself

It....itself

we.... ourselves

you..... yourselves

they...themselves

25. Choose the correct reflexive pronoun:

The children planned the party _________.

A myself B ourselves

C themselves D herself



26. Choose the correct reflexive pronoun:

He built the house ____________.

A herself B ourselves

C themselves D himself

27. Choose the correct reflexive pronoun:

You should be proud of _______________.

A herself B yourself

C myself D himself



28. Modal Auxiliaries

They are verbs which behave irregularly in English .

They give additional information about the function of the main verb that follows it

They are always followed by an infinitive without “ to “ .

Must

Use it to talk about laws and rules and to express obligation or something that is

necessary to do.

It’s followed by the base form of the verb.

You must stop at the traffic lights.

Mustn’t = prohibition

You mustn’t use your phone while driving.

Should

Use it to give advice or make a suggestion that

might be important.

It’s followed by the base form of the verb.

You should eat more fruits and vegetables.

Negative form: Shouldn’t

You shouldn’t eat too much.

29. Choose the correct form of the verb:

You should .......to the hospital if you have a cough .

A go B goes

C gone D going

30. Choose the correct form of the verb:

You must .......... your teachers.

A respecting B respects

C respected D respect



31. Adverbs of Manner

-tell how something is done or happens.

-formed by adding ‘-ly’ to an adjective.

slow --slowly -- She drives slowly.

exceptions:

fast - fast

hard - hard

good - well

32. Choose the correct option :

Please speak ________ in the library.

A quietly B happy

C fast D quiet

33. Choose the correct option :

You must climb trees __________ .

A bad B carefully

C strong D good



34. Choose the correct option :

All the children speak English _________ .

A good B perfectly

C perfect D bad

35. Preposition of Place

are used to show the position or location of one thing with another. It answers the

question "Where?"

36. Choose the correct preposition :

where is the ball?

The ball is ............. the box

A behind B next to

C on D under

37. Choose the correct preposition :

where is the ball?

The ball is ............. the box

A next to B in front of

C behind D on



38. Choose the correct preposition :

where is the ball?

The ball is ............. the box

A in B on

C in front of D behind

39. Vocabulary - Unit 2

40. What is advice?

An opinion you give someone about what they should do.

A False B True

41. What is anorexia?

A
an opinion you give someone about what

they should do.
B

being in a good physical condition -

healthy and strong

C

It is an eating disorder that affects

people's appetites usually because of

emotional problems, stress or pressure.

42. What does fitness mean ?

A
being in a good physical condition -

healthy and strong
B

It is an eating disorder that affects

people's appetites usually because of

emotional problems, stress or pressure.

C
an opinion you give someone about what

they should do.



43. What is meant by “ stick to your decision “ ?

A
To keep doing what you said you would

do even when it’s difficult .
B A meal that has very little taste .

C
being in a good physical condition -

healthy and strong

44. What is a bland meal ?

A
To keep doing what you said you would

do even when it’s difficult .
B

being in a good physical condition -

healthy and strong

C A meal that has very little taste .

45. What is lean meat ?

A meat that has little fat B
being in a good physical condition -

healthy and strong

C A meal that has very little taste .

46. Grammar - Unit 2



47. Phrasal Verbs

A phrasal verb consists of a verb together with a preposition or adverb that modifies the

sense of the same one. This preposition or adverb can also be called complement. The

same phrasal verb can have several meanings and very different.

Phrasal verbs are verbs with two or three words:

main verb + particle (preposition or adverb)

48. Choose the correct phrasal verb

A throw away B put on

C sit down

49. Choose the correct phrasal verb

A throw away B sit down

C put on



50. Question Words :

How much? vs How many ?

How many ?

To ask about the number of people or things we can count.

Used with plural countable nouns

Mainly used in questions and negative sentences

How much ?

To ask about the quantity of something we can’t count.

Used with uncountable nouns

Usually used in questions and negative sentences

51. Choose the correct Question word :

How ........... money do you have?

A much B many

52. Choose the correct Question word :

How ............. books do you have?

A much B many



Answer Key

1.n/a 2.a 3.c 4.a

5.c 6.c 7.c 8.a

9.c 10.b 11.a 12.b

13.n/a 14.n/a 15.b 16.b

17.b 18.a 19.n/a 20.b

21.a 22.c 23.a 24.n/a

25.c 26.d 27.b 28.n/a

29.a 30.d 31.n/a 32.a

33.b 34.b 35.n/a 36.c

37.b 38.a 39.n/a 40.b

41.c 42.a 43.a 44.c

45.a 46.n/a 47.n/a 48.c

49.c 50.n/a 51.a 52.b


